Review Exercise 4

Q.1  Multiple type questions?

(1) is an algebraic ...
(a) Expression (b) Sentence
(¢) Equation (d) In-equation

(ii)  The degree of polynomial 4x* +3x’y is

(a) 1 (b) 2
(¢)3 (d) 4
(iii) @’ +5° is equal to
() (a—b)(a2+ab+b2) (b) (a+b)(a2—ab+b2)
(¢) (a—b)(az—ab+b2) (d) (a—b)(a2+ab+b2)

(iv) (3+\6)(3—\5) is equal to

(a) 7 (b) -7

(c) -1 (d) 1
v) Conjugate of surd a + Jb is;

(a) —a+b (b) a—+/b

(©) Va ++b (d) Va b
(vi) alj— alb is equal to

2a 2b

@ == (b) —=

© =1 @ 2
(vii) a b is equal to

a+b

(a) (a-b) (b) (a+b)

(¢)a+b d)a->
(viii) (JE N/ )(\/5 N ) is equal to

(a) a* +b° (b) a* -5°

(c)a—b (d) a+b
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ANSWER KDY

a d b a b b d

Q.2 Iill in the blanks

(1) The degree of polynomial x v 3xy v s
(11) xo —4
| |
(111) X X ( )
X X
(iv) 2Ma b ) (ab)y )
I
(v) N——
X

(vi1) Ovrder of surd v x is

(vii) — =

ANSWER KEY
(i) 4
(ii) (v 2) (v 2)

(111) X |+ —
X

(1v) a b

I
(v) X+ —-2

X
(vi) 3
(\II) 2 \‘;

: L

Q.3 It x - — 3 find

A o
. |
(1) X —_ a

X
Solution: Given that x+— —3

X
Soa b)) a b 2ab

Putting the values

|
2(x) —
h% X X



(1) x4 i4
x

1
Solution: Given that x° +— =7

et ey (2] e

X

49 x4+i4+2
x

X' +—=49-2

Q4 If x—l:2 find

1 1
(i)x2+? (ll)x4+?

Solution (i)

1
Given that x——=2
X

(a+b)2 =a’+b*+2ab

Putting the values

i) ) ()

Solution (i)

) 1
Given that x> +—=6
X

(e D) Lo /)[%

(6) :x4+i4+2

X
4 1

X' +—=36-2
X
PR

X —4—34Ans
X

Q.5  Find the value of x’ +)° and xy
if x+y=5Sandx-y=3.
Solution: Given that x+ y =5
x—y=3
As we know that
S(x +y)2 —(x— y)2 = 4xy
Putting the values
4wy =(5) -(3)
4xy=25-9
dxy =16
,1/64
Xy = i
xy =4 Ans
As we know that
(x+y)3 =x+) +3xp(x+y)
Putting the values
(5)3 =x’+)°3x4x5
125=x"+y° +60
x4+’ =125-60
x*+y’ =65
x’+3° =65 Ans



Q.6 If P=2+/3,find

) 1
(i) P+F

Solution: Given that P =2+ \/§
1

[S—

Sl= =
[\~
+
P

[\
+
&

—

5%

Il
X
B |

&

—_
‘\l’m
| ——
[3%)
S
—
&
e
[S]

a

_|_
—_—

Il
[\
_I_
_|_
\9]

|

(i) P-——

As we know that

1
—=2-4/3 and
\fan

P:2+J§
P—%:2+\6—(2—\6)
=Z+3-Z+3

= 2\6 Ans

1
(iii) P+ V3
1
Solution: Given that 7 + F =4

(a +b)2 =a’+b*+2ab

op) (5]

4y =P+ —+42
P2
16-2=p7 +F

P’ +% =14 Ans

Q.7 If ¢g=+/5+2 find.

G gt
q

Solution: Given that g = J5+2
11 N5-2
q N5+2 J5-2
J5-2
2
(V5) -2y

BN AN

= 2\/§ Ans



G g
q

Solution: Given that g = J5+2
l:\/g_z
q
q—l:\/§+2—(\/§—2)
q
:)g+2—)ﬁ/+2
1

g——=4 Ans
q
1
(i) ¢ +—
q
1
Solution: Given that g ——=4
q
Squaring both sides
2
1 2
g-——| =(4
[ ‘I] ( )
, 1
qg +—-2=16
q
, 1
q +—=16+2
q
, 1
q +—2:18 Ans
q
. 1
(iv) q’ -
q
1
Solution: Given that ¢ +—= 2.5
q
g-L=a
q

By using formula

Q.8 Simplify

\/a2+2 +\/a2—2

\/az +2 - \/az2 -2
Solution:

_ \/a2+2 +\/a2—2 ><\/a!2+2 +\/a2—2
\/a2+2—\/a2—2 \/a2+2 +\/a2—2

(\/a2+ 2 +\/a2 —2)2
() ()
. (\/ﬁ)z +(\/E)2 +2(\/a2 +2)(\/a!2 —2)

(1)

a+2—-a*+2

:a2+,2’+a2—l+2[\/a47zﬁf+}cff—4]

4

_2a*+2Va' -4




Lawr\/aj f}{a\/aﬁ sz

X

B /{+\/a2—x2 —p{+\/az—x2
- 3
32
2Na - x’

= ———— Ans

2






